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QUESTION 1

When can the qualification status be changed to INACTIVE? 

A. After the labor has been approved. 

B. When a certification exists for the qualification. 

C. When the labor validation date is not in ACTIVE status. 

D. When the reference to the TOOLQUAl table is removed. 

Correct Answer: A 

 

QUESTION 2

Which information related to the software catalog entry is displayed in the Associated Item section? 

A. A list of licenses associated to this software catalog entry. 

B. A list of instances of deployed software associated to this software catalog entry. 

C. A table where links between this software catalog entry and an item master are created anddisplayed. 

D. A list of deployed computers where deployed software associated to this software catalog entry have been
discovered. 

Correct Answer: B 

http://www-01.ibm.com/support/knowledgecenter/SSLTBW_2.1.0/com.ibm.zosmfdeployment.help.doc/
izuDhpViewDMSummary.html 

 

QUESTION 3

Which statement is true about the Associate Users and Custodians feature in the Asset application? 

A. An asset has at least one user. 

B. An asset can have one or more custodians. 

C. An asset must have at least one custodian. 

D. An asset can have one or more primary contacts. 

Correct Answer: C 

 

QUESTION 4

Which two pieces of information are tracked in the Craft record? (Choose two) 
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A. pay rates 

B. skill levels 

C. task instructions 

D. availability schedule 

E. certification requirements 

Correct Answer: AD 

 

QUESTION 5

The license must be in which status to add a row to the Associated Products section of the license? 

A. HOLD 

B. DRAFT 

C. ACTIVE 

D. EDITABLE 

Correct Answer: D 
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